-0.05¢
Qo =
9.045F
Y
20.04f
Q E
D.035¢
° E

0.03f
0.025E

0.02f
0.015F

0.0
0.005E
QE=—=

Ratio

=0.05¢
%) E
.045F
2 E
50.04F
Q o
.035F
@ E
0.03f---ht:
0.025F - fh¥
0.02E
0.015E
0.01F
0.005

Ratio

0.05

Efficiency vs P,

Fowpt
—_— DQM TT or|g|nal IowFt pLess

o}
O
—|
<‘D
2
D'
m
O
3‘

—— DOM_T owpt_plLes:

0.5[

Efficiency vs ¢

2]
2.045
2
50.04
o
.035
(]

0.03E

0.025g

002

0.015[

0. 01j

0.005E

Ratio

H—.'
:ﬁ:"— .
—4—-—¢ :

_+
-4—¢-.- -
e

—4- :
sy
ﬂ*_;*_— T

e =
= .
ok —+—+'—

Q L

0.6 k- F-FF 1

o 8[F T -HRE Ty H




	Contents
	Page 1


